EARAROBEEIERT — 2 N— IBISH —F

20195F4A9H () 1EAFH2H

(Pl + x 8 B3Z #5%—M

EZER

[REBB] — | & (&) 14000 B

[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— o )13 :28. -6 . — 1ESRIGHD (Z\#K)
N RESINIISa o4 2 1(2_8)9 4-6-4 | 38.9 2 (4;7) %;&%
LT RYAYA—F B:5-FOFrx5 NNt Bk
o= BB :28. == . — SEBEE (k
5 6l 73€E Y b H o4 L 1(728ts)) 2-2-1  [39.7 1 (4;;; e
L:hzxex) B:hIT12h J—HrTr—LA
S A it o4 | MEEX 1:29.4 7-10-9 | 38.9| -— 8 432 | LUhETE (#n15)
sy 11| NV 54.0 21/2) (11 | BTEEA
L:hFrotw N BT IAT HRXEHE /-
RN “ A EB 1 2 129, -3 . — T2 (/INHE)
4l8l15 TN EATYY) ' 56.0 1(,33.;‘ 635|399 > (5:)‘8 AL
R:AxEFY BEYRT4—FX R4S
— . C— e BTHE .09, 1= . — A= (K#H)
5 7 AEZTIKRZTL "7 56_0I_ 1(32/94)5 112 “0.3 ! ;1_694) FEHER
R:1YZRE—3IZZ8— BIAETINT-X BTy ]
Sy . > 7 | XHES 1:29.7 13-13-15 [38.5| — 3 500 | EEEAEE (KH)
6l7/13 /=¥ nNO—-X ~ " 8.0 (3/4) Lo |REELK
A:Pulpit £F:Word o’ Wisdom Craig D. Upham
N KI5 B : —4— - EHER (KH)
7 gl 7v> NAY 4 5 B 1(/72?3 3-4-3 40.3 6 3739) *s;zaazﬁ)\
R:TITRAFIEIN B: 7zl b A RlaA
_ ol 1L B : -15- - BAME (/)
8lslg|757-7L37 5 e (17.2;% 15-15-14 | 38.5 13 <4+936) i
L:T7eZANVE B hIFv)y R figits
FoTHiRR . -12- - NERR ()
9 6 XTI ATy 4 5 54.75 1.729633 10-12-11 | 38.9 9 ;1_729) QE\::FBEEE
bt R B:Xv—bYyz—7 A #2
oo g N . [iE] B &R :29. -8~ . — BRE (KH)
10 1] 2] K1 Hn7 e | B R
L2911 T v F—F7—K—K B:XHTN BEH #%F
T—J £ 5 | kiR 1:30.0 8-7-6 |40.0| -— 10 | 451 |IETEME ()W)
11 12 56.0 7€) 1) HEER
Riw>nNy&rh7z B:YF HRXEHE /-
=> 8 B 5 | AVMIER 1:30.1 12-14-13 [38.9| — 15 | 443 | FEBUHE (KH)
12/5(10| A7 IV T 54.0 ) o) | EEES
R:bh—t>HhvLAY B:FLITER ESs7 e ]
s 46 | Mtk 1:30.3 16-16-16 [38.7| — | 11 | 485 |USEH=HE (KH)
13117y hET712 56.0 (3/4) (-g) | BUEER]
RNRVTSY BITTF40 L RS
= 4= 44 | B 1:31.0 14-11-11 [ 401 | — 12 | 466 |BEEMM (KH)
140 4| EAHATETA b 5.0 (3172 o | xEED
x4 aghyy B:I3U-—> 39T T— L
N . s “ FEZ :31. -9~ . - HARE (KH)
15 5 d—=ILRI vy % 4 54.0 ! (32]> 4 59710 1 41.0 16 ?215) /J\;‘Zﬁﬁlj
vy )sgdyR B:d—IKU-=7 EvJLy RT77—L4
= SIS > 6 | EBEER 1:31.6 1M-5-7 [41.9] — 14 | 547 |UBEEES (KH)
1617|114/ 71 —X7Z v R 7| 5.0 @ (-1) | LHfR=
L:81FxYv ML B:7AI0T—NNy s BRSH Ty KFv T - Tr—L
® I —F—@EBIERL
13—7—
Aol=5r= 7,16,8,3,5,15,11,12,2,6,14,10,13,4,9,1
G§a=7r= 7,16,15,8,14,3,12,2,5,11,4,6,13,10,9,1
A== — 16,7,8,3,15,12,14,2,11,5, (4,6) ,10,9,13,1
[ RN
B OB 3 360M 714K 3-16 280M e & 2-8 400M &R 3-11-16 4,830
7 B 8 150 3-11 1,840/ | | # B 2-8 920M | | 3E=H | 3-16-11 17,260
16 130M4 11-16 1,600 B E 3-16 480
1 440M B H 3-16 960M

ABICOVWTRDTEEERROODE. TR LIV,




